Integrating Trig

jcos ax+b)dx = ;Sln(ax+b)+c

Sln(ax +b)dx = —%COS(ax +b)+c

- 1
sec’(ax+b)dx= . tan(ax+b)+c

1
e g.(i)jsin 3xdx = —§COS3x+c

(ii)ICOS(1—5x)dx = —%Sin(l—Sx)+ c

(iii ) j secz(;jdx =2 tan(;j +c




sin 2xdx = {_1005 ZXT (v) Find the volume of the solid formed

2
(iv)['s ]
- 6 when y = ~/sin zx between x =0
(com —COS Zj and x =11s rotated around the x axis.
) 1( . 1) V = x| y2dx
2 2 !
3 = 7| SIn 7xdx
- 0
- - o]
= 71| — —COS /zx
7T
= —(cosz —cos0)
=—(-1-1)

= 2 units®

(vi)_“xsec2 x°dx = %j 2xsec’ x°dx

:ltanxz +c
2




(vii) [ sin®xdx c0s20 = c0s?6 —sin? @ .
1 =1-2sin” @ = sin” @ == (1-cos 26)
=5 j (1—cos 2x)dx 2

=2c0s" 0 —1=>c0s° 0 = 1(1+ c0s26)
1 1 .
(x—zsm 2xj+c 2

x 1.
= ———SIN2x+c
2 4

. Sin x
(vii) I tanxdx = j dx
COS)f
—SIN X
COSXx
=—logcosx+c

dx

=log(cosx)™ +c

=logsecx+c




2
(ix)_[COstin7xdx u=sin x
0

. du = COS xdx
=Pﬂm¢ x=0,u=0
0 . T

x=—,u=1
2

Exercise 141; 2ace etc, 3ace etc, 4, 6, 8a, 9ac, 10a,

12ace, 13b(i), 14df, 15ace

Exercise 14J; 2b, 3bfh, 4a, 5ac, 7, 9, 10, 13, 14, 21, 26




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4

